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if (iHigh (Symbol(), PERIOD M15, iHighest (Symbol(), PERIOD M15, MODE HIGH, 8, 6)) <= iClose(Symbol(), PERIOD M15, 5)+PipsToPrice (0)

&& iHigh(Symbol(), PERIOD M15, iHighest (Symbol(), PERIOD M15, MODE HIGH, 55, 1)) < iHigh(Symbol(), PERIOD M15, 0)+PipsToPrice (-11)

&& iSAR(Symbol(), PERIOD M15, 0.02, 0.2, 6) < iClose(Symbol(), PERIOD M15, 5)+PipsToPrice (0)

&& iMA(Symbol(), PERIOD M15, 10, O, MODE EMA, PRICE CLOSE, 1)+PipsToPrice(0) > iMA(Symbol(), PERIOD M15, 20, 0, MODE EMA, PRICE CLOSE,
&& iMA(Symbol(), PERIOD M15, 20, 0, MODE EMA, PRICE CLOSE, 1)+PipsToPrice(0) > iMA(Symbol(), PERIOD M15, 30, 0, MODE EMA, PRICE CLOSE,

if (isTimeFilter == true && TimeFilter(signal, TimeFilterStartTimel, TimeFilterEndTimel) == false) signal = 0;
if (barsl == Bars) signal = 0;

if(signal != 0 && getOpenlLots (Magicl) == 0) {

if (openPosition(signal, lots, TakeProfit, StopLoss, Magicl)) {
barsl = Bars;

if (iHigh (Symbol (), PERIOD M15, iHighest(Symbol(), PERIOD M15, MODE HIGH, 9, 7)) <= iClose(Symbol(), PERIOD M15, €)+PipsToPrice (0)
&& iHigh(Symbol(), PERIOD M15, iHighest (Symbol(), PERIOD M15, MODE HIGH, 65, 1)) < iHigh(Symbol(), PERIOD M15, 0)+PipsToPrice (0)
&& iSAR(Symbol(), PERIOD M15, 0.02, 0.2, 7) < iClose(Symbol(), PERIOD M15, 6)+PipsToPrice (0)

&& iMA(Symbol(), PERIOD M15, 10, O, MODE EMA, PRICE CLOSE, 1)+PipsToPrice(0) > iMA(Symbol(), PERIOD M15, 20, O, MODE_EMA, PRICE CLOSE,
&& iMA(Symbol(), PERIOD M15, 20, O, MODE_EMA, PRICE CLOSE, 1)+PipsToPrice(0) > iMA(Symbol(), PERIOD M15, 30, O, MODE_EMA, PRICE CLOSE,
if (isTimeFilter == true && TimeFilter (signal, TimeFilterStartTimel, TimeFilterEndTimel) == false) signal = 0;

if (barsl == Bars) signal = 0;

if(signal != 0 && getOpenlots (Magicl) == 0) {

if (openPosition(signal, lots, TakeProfit, StopLoss, Magicl)) {
barsl = Bars;

}

signal = 0;

if (iHigh(Symbol (), PERIOD M15, iHighest (Symbol(), PERIOD M15, MODE HIGH, 10, 8)) <= 1iClose(Symbol(), PERIOD M15, 7)+PipsToPrice (0)

&& iHigh(Symbol (), PERIOD M1S5, iHighest (Symbol(), PERIOD M15, MODE HIGH, 54, 1)) < 1iHigh(Symbol(), PERIOD M15, 0)+PipsToPrice(-11)

&& iSAR(Symbol (), PERIOD M15, 0.02, 0.2, 8) < 1iClose(Symbol(), PERIOD M15, 7)+PipsToPrice(0)

&& iMA(Symbol(), PERIOD M15, 10, O, MODE_EMA, PRICE_CLOSE, 1)+PipsToPrice(0) > iMA(Symbol(), PERIOD M15, 20, O, MODE_EMA, PRICE_CLOSE,
&& iMA(Symbol(), PERIOD M15, 20, O, MODE_EMA, PRICE_CLOSE, 1)+PipsToPrice(0) > iMA(Symbol(), PERIOD M15, 30, O, MODE_EMA, PRICE_CLOSE,

if (isTimeFilter == true && TimeFilter(signal, TimeFilterStartTimel, TimeFilterEndTimel) == false) signal = 0;
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